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(o) 60
(by 72
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(d) 78
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[a) 490
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(c) 150
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1. The number 2=3=5xT=1141 15

(@) a pnme number
(b) not a prime, but power of a prime

{¢) not a power of a prime, but a
composite even number

(d) not a power of a prime, but a
composite odd number
. Two unequal pairs of numbers satisfy

the following conditions :

(i) The product of the fwo numbers
in each pair is 2160

{it) The HCF of the two numbers in
cach pair 15 12.

If x is the mean of the numbers in the
first pair and y» is the mean of the
numbers in the second pair, then what
i5 the mean of x and ¥ 7

() 60

(b) 72

(c) 75

(dy 78

How many digits are there in (54)'" ?
(Given  that "I”Eltrz =301 - and
log; 43 = 0-47T)

(a) 16
(b) 18
{e) 149

(d) 27

4. Which one of the following isa sel of

- . | |
solutions of the equation x™* =Yx",
if nis a posrive integer 7

(a) {1, =°}
&) {Ln}

el {1, n}
(d) {m w}

. In a competitive cxamination, 250

students have registered. Out of these,
50 students have registered for Physics,
75 students for Maothematics and 35
students for both Mathematics and
Physics. What 15 the number of students
who have registered neither for Physics
nor for Mathematics 7

{a) 90
(b) 100
(c) 150
(d) 160

. If the sum of the digits of a number

107 - 1, where n is a natural number,
iz equal to 3798, then what is the value
of mn'

(a) 421

(b) 422

{c} 423

(d) 424

. Which one of the following is the

largest number among 22224, 2223
22211. 21222 ]

(a) 222
(b 122]]
(c) 222%

(d) 22222
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{a) 3
(b} 13
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PLKI-T-MTRK - A

11. % 3R R US WE, TaS WSl W

12.

FAoe-aaA o1 WS T HeE ¥ 9w
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(a) ¥l
(b) 42
(c) 24

(d) 18

ﬂﬁaﬂ?ﬁ,ﬁ'ﬂlﬁ"ﬂ'ﬁﬁﬂl

HHkx-15=0% 7@ W W § 5
a-f=8 %, @ ¢ W TIEEE AR W
t o
(a)
(b)
(c)
(d)

Eh £ LS R

13. psRgHam we: = €, ol (x- 1)

14.

W (x+2) Ll .13+4.11+px+q Cal
Teremfire o & 7

{(a) 1, -6

(b} 2, -6

¢} 1,6

(d) 2, 6

ufd 2 +5x+6 M L+8c+15 T
HCF (x+B) R, Mk F AT g ?
(a) 5

(by 3

{c) 2

{(d) 1




B. If m is the number of prime numbers
between O and 50; and n 18 the number
of prime numbers between 50 and 100,
then what 15 (m— n) equal to?

(a) 4
(b} 5
(c) 6

(dy 7

and

m | B

&
Bl | e

1
4' def
{a)

(b)

o R

50 | La

(c)

]
}

dg'
H4

10. Which one of the following is the

largest divisor of 3*+ 3% ¥ gf
x is any natural number 7

(a) 3

{b) 13

(c) 39

(d) 117

un

1.

13.

14.

A two-digit number is 9 more than
four times of the number obtmined by
interchanging its digits. If the product
of digits in the two-digit number is B,
then what is the number ?

(a) %1
(b) 42
(c)
(d) 18

|f & and B are the roots of the quadratic
cquation 2 +kx—15=0 such that

g -f=8, then what is the positive
value of k7

(a)
(b) 3
fe) 4

e

(d) >

What are the wvalues of p and ¢
respectively, if (x=1) 3.11:.1 (x+2)
divide the polynomial e dx*+px+gq 7

(a) 1,
(b) 2, -6
(e) 1, 6
(d) 2,06

— i

If (x+k) is the HCF of x*+5x+ 6
and ¥+ 8x+ 15, then what is the
value of £7

(a) 5
(b) 3
(e} 2
(dy 1
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19. i 3
w7 ]
{a) 1 W

(b) -1
by 1000

(e}
(G] 100000

(d) Za™™
{d) TODHO00
20,3 r=+2, y=43 Ak ;=05 &, @
16, O W 3 wEw ¥ R oomw 12288, ﬁﬂF’ﬂﬁIﬂﬁﬁﬂ-ﬂTm”ﬁFﬁ%
28200 #R 44333 1 faorfe = =
v feafa 3w d (mom) e
WTH B R | R Hen s R

(8} w < x < &
b) s<x <y

c) #=<Cy<x

{a) 272
(g} =<y =< r
(b} 232
(¢) 221 21. A log x = 1:2500 % y = x 222, W
E{J_F_[_H'hﬂiﬁm 87
(dy 120
(a) 42500
17.9% 2+02 =6y &, § y:r fFadk (b) 2:5625
aEL BT (c) 15625
o i 22, 3% fix) = (x-a)x-p) & faafm
(e) 2:1 e s, w9t = p B 0 IwEA @
(@ 3:1 t?
(a) {x—a)f{a)={x= /M5
18, 9f% m 3 0 TglE w0 wen € . a—f :
m" = 1331 8, M(m- D" = w7 w0 s _
27 ® =} {8 ~{x- B fiax)
a-f
fa) 1
-Bifa)-{x=a)f({)
i BN
(b) 100 (e s
(¢) 121 -
) (x=B)Lf(H) —(x—e)f(a)
(d) 125 o-p
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15. If 51— 51 =600, then what is the
value of 1027

fa) 1
(b) 1000
s R

(dy 1000000

16. A number divides 12288, 28200 and
44333 s0 as to leave the same
remaindse in e@ach case. What 15 that
number 7

(a) 272
(b) 232
{c) 221
(d) 120
17. If »*+ 9" =6xy, then what is y:x
equal to ¥
(g} 1:3
by 1:2
{a) 25
{ga) 3]
1B. If m and m are posilive integers such

that m" = 1331, then what iz the value
of (m—1y"1 7

{a) 1
(b} 10D
{e) 121

(d) 125

I 1
19. What is ﬂ,ﬂT* T

20.

21.

21,

=¥ | equal to 7

(a) 1
(b} -l
(c] O

(d) 2a""

If x=+2, y=13 and z=U6, then
which one of the following is comect 7

(B y<x <z

by z<x <y

(g =z <y <-x

(d) x =y =1z

If Jog x =1-2500 and y = x"€%, then
what is fogy equal to 7

fa) 42500

(b) 2:5625

(c) 1-5625

(d) 1:2500

If fx) is divided by (xr- ajix-f)

where a=f then what 5 the
remainder ?

(x = a)f(a)—{x= B)f(B)
-8

(x =) (B)—(x=F)f(x)
a-f
(x=B)f () = (x =) f(F)
a-f

(x=B)f(B) - (x—a)f(x)
-

(a)

(b)

(c}

(d)
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(a) 49+ 3¢+ 2

(b) 49x%—3x+2
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|
(&) E
!

{h) g

|
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C) a5

11

(d) q—u
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e Fa I g s e 7

Tt w51 X & 9 # W W 20%
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wha = 10% # 3fg & # | =¥ 2010
A, 95 X F1 99 5000 W ok =
¥ &I 22000 W | e ook F ol
AR TS T W oA T5000 § arfeew
& W ?
(a) 2012
(b) 2013
(¢) 2014
(d) 2015

X #R ¥ & wiemt (=) o see
5:6%1 %% 1.2 km 0w @ (W)
# ¥, Xx® 70 m # fawa (g
ear &, @ W § # o s e
wit (seR) & e 7

(a) 30m F IR X W A &
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23,

If the arear of a ‘sguare is
2401xr* + 1960% + 4, then what is its
side length 7

(a) 49xf 4 3x+2

by 49z —3x+2

(c) 494 +2

(d) 59x+2

If x varies as yz, then v vanes inversely
as

(a) x=z

(b)

LER k]

M| M

(c)

(d) E

. If the points # and {J represent real

nombers. .73 &nd (.56 on the

number line, then what is the distance
between F and Q7

{a) ]
.
f

{b)

Ly |

45

11

@ 3

16.

27,

28.

What is the point on the xy-plane
satisfying Sx+ 2y ="Txy and
10x+ 3y =8xp ?

Nen

(b) [El -1]

/ 1
ey |1, =
h '5.l|

The price of an article X increases by
20% every vear and price of article ¥
increases by 10% every year. In the
year 2010, the price of article X was
T5000 and price of article Y was
T2000. In which vear the difference in
their prices exceeded T5000 for the
first time 7

(a) 2012
(b) 2013
(c) 2014
(d) 2015
The ratio of speeds of X and ¥Yis 5: 6.
If ¥ allows X & start of 70m in a

-2 km race, then who will win the
race and by what distance 7

{a) X wins the race by 30 m
(b) ¥ wins the race by 90m
(c) Y wins the race by 130m
(d) The race finishes in a dead heat
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29, 7f2 wF T it vfy = 9w gme

A H 5 km/ hr =1 1501 |00, &7 300 km
o v g WA 0 g s g1 6 W
H w9 AR R A9 TR W Ay
o9 H %) 92 UE weA @ | =
amrg af (wr) s @

(a) 50 km/'hr

(b) <0 kmuv'hr
{c) 35 kmhr

{d) 25 kmr

30. 7f% 6 g9 3R g wftand vw w=m W

10 & 90 = w9 #; AR 13 7
st 24 wfgand adt wm w4 i o @@
w o €, 9w fEm # v e T
ferm o = = U T W v Wi g

T 0 W O, W W R 7

fa) 2:1
(b} 1:2
e} 4:3
(d)y 3:4

31. TF T A ST H FHEAT H TH wHW

e et ohnat ¥ Femr e R | o
weie GitR o el & wem 2 g
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=21 5w &, o ofee 5 T s =
B Wl B | w3 w6 den faadt
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{a) 100

(b) 105

{c) 110

(d) 120

32. T g w2 =96 o ww e
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W, ° W 9 24 waa fe w6
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0.

1.

3z

A train takes two hours less for a
journey of 300km if its spesd is
increased by 5 km/hr from its usual
specd. What is its uvsual speed ?

(a) 50km'hr

(b) 40 km/hr

(c) 35 km'hr

(d) 25 kmvhr

If 6 men and § women can do a piece
of work in 10 days; and 13 men and
24 women can do the same work in
4 davs, then what 18 the ratio of daily
work done by a man to that of a
woman 7

(2) 2:1
(b) 1:2
[c) 4:3
(dy 3:4

Students of a class are made to sit in
rows of equal number of chars. If
number of students iz ncreased by 2
in each row, then the number of rows
decreases by 1. 1f number of students
is increased by 4 in each row, then the
number of rows decreases by 5. What
is the number of students in the class 7

(&) 100
(b) 105
(e} 110
(d 120

A sum was put at simple interest at
certain rate for 2 years. Had it been
put at 1% higher rate of interest, it
would have fetched T24 more. What
is the sum ?

11

33,

{a) T300
(b) T600
(c) TROO
(d) T1200

The population of two villages is 1525
and 2600 respectively. If the raho of
male to female population in the first
village is 27 : 34 and the ratio of male
to fernale population in the second
village is 6: 7, then what is the ratic
of male 1o female population of these

two villages taken together?

33

(2} 4

BS

(b} P

5 1

{c) a0

{d} E
1]

In a class room the miio of number of
girls to that of boys is 3:4. The
average height of students in the class
is 4-6 feet. If the average height of the
boys in the class 1s 4-8 feet, then what
i5 the average height of the girls in the
class 7

(&)
(b}

Less than 42 feet

More than 4-2 {eet but less than
43 feet

More than 4-3 feet but less than
44 feet

{c)

More than 4-4 feet but less than
4-5 feet

(d)

A - PLEKI-T-MTK




38, & (221) 3,5.9, 4,6, 11, 189 mitmm

36.

37.

(ifemm) s & 7

(a) 6

(k) 65

{c) 7

(dy 7-5

TR AT A € oR A E
F W oFEE 1:2:3 %, v oW
T E T o R 7

(a) 200°

{b) 180°

{c) 150°

(d) 120°

Faf qeaien & wkvg @ fadt ol
% witmes el w0 250 W 50§ weA
foar & | ww S F I AE 170
g 3R From @ 70 91 A
TeisA & T=aan 3% a0 W &
= = o frer R 7

(a) 15

(b) 17

(e) 20

(d) 24
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i (1) ok o st T (ite) =1

HEE A BA 1 (Z) |

e 1 ¥ Z
A R6 45 25
B 1305 903 | 461
c 2019 | 940 | 474
D 1166 869 | 416
E 954 544 | 254
F 1198 | 464 174

g, whitfers =gt i sfurem ol 7w

39.

(=prom) il Tl o wa €
(a) F3R D

(b) D3R F

() C 3 A

(d)y D IR A

whirfrs St & sfirees frgem @
il ol

(a) F

(b)
(e) B

{d) A




35, What 15 the median of the data 3, 5.

9. 4,6, 11, 187
{(a) &
(b) 65
(c) 7
(d) 75
36. In a pi-diagram there are three sectors.
If the ratio of the angles of the seclors
18 1:2:3, then what 15 the angle of
the largest sector?
(a) 200°
(k) 1807
(c) 150°
(d) 120°
7. The maximum marks in-a Test arc

converted from 250 to 50 for the
purpose of an Internal Assessment, The
highest marks scored were 170 and
lowest marks were 70, What iz the
difference between the maximum and
minimum marks scored in the Internal
Assessment 7

(a) 15
(b) 17
(c) 20

(d) 24

13

Direcrions for the following three (03)

iremy :

Read the following information and answer
the three items that follow

The following data presemts count of
released convicts who have served prison
terms (X)), those who have received some
educational or technical training duning their
term (Y) and those who were offered
Company placement () respectively, from
sig different jails A, B, C, D, E and F, in
the year 2010.

X Yol =2
A B 45 25
| B | 1305 | 903 | 461 |
C | 2019 | 940 | 474
D 1166 | 869 | 416 |
F 954 | 544 | 254
F 1198 | 464 | 174

38. Jails with highest and smallest percent-
age of trained convicts are respectively

(a) Fand D
(b} D and F
(e] C and A

{(dy D and A

39, Jail with highest placement rate of

tramned convicts is
(a) F
(h) D
(¢} B

(d) A
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40, 3 3=, fomd wiifes 2t & & sl

41.

41.

43.

8 wfs afigt & A (F") W=
W ww B g, €

(a) A, BaR C

(b) A, B3R D

(c) A, D 3R E

(d) A, E#ITF

#m st W R gend (it I
fim #) et E ot 78 wow € alk
A Wl W W 9He &L B 9T o
78 9w €7

(a) =:

(b) uiw

'H'Fﬁﬂrfmi;'%'r?ﬂﬁﬁ_[qmg,
TR —500 < x < 500 W 500 < y < 500
7

(@) 110

(b) 111

e} 112

(d) STFF & ® W A

= #ifwe 8 3z 3t (Fm s
# v e R ) ww i s= Xz 4+
yYzx+zxy & fafafas 3 & =9
/% wom wd 2/E

1. 5 ®em 3 R (X+Y+Z) 4 Wi #
2.5 "3 0§ Wy

LSRR T £
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(d)y 1 3 3

44, fomft fafewm = =1 W 5@ & R,
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(a) 135 fire
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(c) 180 frre

(dy 225 fime

5. B o el =1 dmeR 5 sk
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40.

41.

42.

Jails from which more than half of the
trained convicts are offered jobs, are

() A, B and C
(b} A, Band D
{c) A, D and E
{(d} A, E and F
The number of three digit numbers
{all digits are different) which are

divizible by 7 and also divisible by 7
on reversing the order of the digits, is

(a) Six
(B} Five
(e} Four

(d) Three

How many integral values of x and v
satisfy the equation 5x + 9y =7, where
500 <x <500 and -300 <y <5007

(a) 110
(b)

<)

111
112
(d} None of the above

. Let XFZ be a 3-digil number. Let

S=XYZ+ VZX+ ZXY., Which of the
following statements is‘are commect 7

. § 18 always divisible by 3 and
(X+ ¥F+2Z)

2. % is always divisible by 9
3. 815 always divisible by 37

15

44,

45,

Select the correct answer using the
code piven below :

(a) 1 only

(b} 2 only
() 1 and 2

(d) 1 amd 3

In covenng certain distance, the
average speeds of X and Y are in the
ratio 4 : 5. I X takes 45 minutes more
than ¥ to reach the destination, then
what is the time taken by ¥ to reach
the destination 7

135 minites

{a)

(b) 150 minutes

(¢} 1B minutes

(d) 225 minutes

For two observations, the sum §5 .5 and
product i3 F. What is the harmonic
mean of these two cbservations ?

;_';II
{H" EF_
5
o) 2p)
RS
) I
S
@ &5
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46. o x & il am ¥ & affs s
# 20% afies B, W vyl oam xS
I e Rl pw oW o BT
(a) 10

b) 164

(c) 17}
(d) 20

47. Tt wrww gl 9 wem oW % S
3.4 5. 69T 7B W= E?
{a} 1764
(b} 17640
{c) 44100
(d) 176400

48, Tt i vs = # 3 fram | ofy 3
frrst &1 @ W A 6 W E
' A 20 ez o £ ) of Saw @
frra w e o = a0 30 fiee d
aw gt § | 9 dEe g P =
e W d e = wrel B | e
wHY W 7
(a) 30 fwez
(b) 40 Tz
(c) sofmz
(dy 60 firme

49, ofF (x? - 1), ax¥4 b +ex 4 dite T TH
Es &, A Feafafes § & 9 oW
U R o7
fa) a+b+ec=d+e
(b) a+b+e=c+d
(c) b+tet+d=a+e

() a+e+e=b+d

PLEKL-T-MThR - A

50,

=1,

7))
et

53.

i (..r?' + _|_le =47 ®, @ |Ix;t:r‘+i,\1 Ll
X" J L x° )

qie, w7

(g) 36

(b) 27

(c) 1B

{d) 9

s afem v fae W 360 W pE @ |
g7

(a) 4mx

(b) On

(e) 12%

(d) 167

. (25 cosec x + sec’y) W FATH W w1

7.7

(a) 40

(b) 36

(c) 26

(d) 24

A wifa & 0 < 8 <900 ot

1008 = 90° ¥ | 7 a =17, cotnd &,
A das ool g 7

(8] &= 1
(b) =0
(] @ =>1

(d) D<a<l




46, If the annual income of X is 208
maore than that of ¥, then the income
of ¥ is less than that of X by pl.
What is the value of p?

fa) 10
(b) 164

(=) 17
(d) 20

47. What is the least perfect square which

iz divisible by 3, 4, 5, 6 and 77
{(a) 1764

(b) 17640

(c) 44100

(d) 176400

In a water tank there are two outlets.
It takes 20 minutes to empty the tank
if both the ouilets are opened, If the
first outlet is opened, the tank 15
emptied in 30 minutes. What is the
time taken to empty the tank by second
outlet 7

{a) 30 minutes
(b} 40 minutes
{c) 50 minutes
(d) &0 minuics

If (x*—1) is a factor of
art bt rerd +dete,

then which one of the following 15
correct 7

49,

() a+b+ec=d+e
(b) a+b+e=c+d
() b+e+d=a+e

(d) atc+te=b+d

17

50. Ir[rh-

s1.

52

53.

§ st

} = 47, what 15 the value of

]

o

i 1
| 2%+ —
LY 3.'6

(a) 36

(b) 27

(€) 18

(d) 9

A wheel makes 360 revolutions in one

minute, What is the number of radians
it tums in one second 7

(a) 4=
{b) 6=
(e} 1ix
(d) lé=x

What is the least value of
(25 coseclx + secix) 7

(a) 40

(b) 36

ic) 26

(d) 24

Let 0<B8<90" and 1008 =90°. I
a=[1", cotnd, then which one of
the following is correct ?

@ a=1
by a=0
(e} & > 1

(d) D<a<l
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54,

-1 8

afe tan 60= cot 20, WEl u{ﬁﬂég  #

Al sec 48 =T HE =T £ 7

(=7

(a) o

(b) 2
2

{c) N
4

id) 3

15 m 91 T YE T 9§ T R

= & & = ofrd gfy (39) st e

? 3 79 & A 30° T F = 2|

mamwm Rt tawt g

am g R ?

(a) 10m

(b} 7m

() Sm

(d) 3m

.U S oW W 9 FEes AR e

A N0 FE g ow T wA
dAr &t 3ar 40 Fz & | 6 Frz =
(F41) U= @ = A o & T W
WA AT A 9 IH uew we R i
el Him & o afn @% o s
i w ) ol 9 e & w5 R
Zh 75 Fre §, 9 =4 dew f dad
(Frrwr) Feait @ 7

(a) BS HiE

(b) 110 ®r

(c) 125 HiF

(d) 140 $rz

PLKI-T-MTK - A

57. U HiAW & w9 & p ol g 6 gl w ol

59.

v B WA W fEm 9 e @
HAR & ol & Twme T e 27
e | AR I e & 7

(a) pg
(b) 'h.l.l'-"""i'

9

(c)

'-.'I M

i
(d) 2

P x 3
. SINC6° + gin® 12° +sint 18° + ., +

sin“84° + sin90°, WA T # 7
(a) 1
(b) 2
(c) 4

(d) 8

cosd |
..... +

L I
1+sinf cotf@’ 4 %

{a) cosecl
(b} secd
(c) secl+ coscch

{d) cosecH— cotd




&84, If tan 68=cot 28, where D{ﬁ.{i{;

£l

then what is the value of sec 487

2

{a)
(b) 2

)
43

(c}

LR

(d)

LA
Lh

. A tree of height 15 m is broken by
wited 10 such & way that its top touches
the ground and makes an angle 30°
with the ground. What is the height
from the ground to the point where tree
is broken 7

fa) 10m

(b)) Tm
(¢) 3m
(d) 3m

. On a plane area there are two vertical
towers separated by 1040 feet apart. lhe
shorter tower is 40 feet tall. A pole of
length 6 feet stands on the line joining
the base of two towers so that the tip
of the towers and tip of the pole are
also on the same line. IF the distance
of the pole from the shorter tower is
75 feet, then what is the height of the
taller tower (approximately) ?

(a) 85 feet
(b)
(c)
{d)

110 feet
125 feet

140 feet

57. The angles of elevation of the top of
a tower from two points at distances
p and g from the base and on the same
strmight line are 27° and 63° respec-
tively. What is the height of the tower ?

(a) pg
(b) +Pg
(c) £1
2
NPy
) 3

What is the value of

- RN L |

gin26° +sin®12° + sin” 18° + ... +
= 7 " = |
gn<B4? + im0 7

SN,

(a) 1
by 2
(c) 4
(d) 8
59, What is —=25¢ o 1 equal 107
|+ 5@ cotd
{a) cosecH
(b) secH
{¢) secH+ cosacl
(d) cosect—cotd

19
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Siﬂﬂ—cmﬁ'ﬁ—:]_mnﬁlei :
" ginf+cosf-1 cosd '
.—b‘l 2

() 0

(b} 1

(c) 2sind

(d) Zcosd

T

61. (fan x +tan v} 1- cotl x cot ¥) +
feol x + cot ¥} 1— tan x tan y), T
aET £ 7
(a) O
(b) 1
(c) 2

(d) 4

lsccx—tanx

62. .[— formds aoe '??
I'n:iﬂ'l.'-.l' F i x
|
]~ ——
BiNx+CosX
1
P} . ——
tanx 4+ cof x
1
()

BECX +lank
l

(dy ——
COSEC X -+ C01 X

63, @f 6, wm wgulw # aem #

63
cnlﬁ:w ® @ (sinf+ cosd) W W

]

A

Ce il A
(a) 1
69
It
79
65
(d) 2

(b)

(c)

Fl im'T‘MFILK = ﬁ

20

6

b5,

.

i= 23:_!1_: H-;:g:s! (7]
T sin*@+cost@

T £ 7

(a) 0O

(b} 1

[c) 2

+4_ = W e

{dy 5

TSR AW 48 cm @4 AR 14 em E R0
aft; famml, =i awli w21 & wrg w4

w ®, T (secf+ cosecH) T

AT e 7
778
(8) 68
b 143
() 16
a7
SR
{d) des
) 24

34 Frgs w1 fewe w # Fwdy s
Hrvmg L2 Z,.F X Vs

L

I X X ¥ ¥y a
(x+y+2)
Yz

|
o XV

(b}

x+y+z

| X s
— o o =

() 1.,!_5' g

Xy + vr+ X
=t o

(d} \ s




6,

61.

62.

sing+ 1
sinf+cos@-1  cos@
equal to?

(a) O

) 1

{c) 2sinf

(d) 2cosf@

What 18 (tan x + tan ¥} 1= col x cot ¥} +
{cot x + cot ¥)( - tan x tan y) equal to 7
(a) O

(b)
()
{d)

sinf=-cosd 41

What is

da bd e

I'El:l.:.::— tan x

What is equal to?

Vsecx+tanx

|
E_ﬂ.} - = =
SnX+COsST
|
[anx-+colx
|
seCr+lanx
1

COSEE X + Col X

{b)
(c)
(d)

If @ liecs in the first quadrant and

cotf = E then what is the value of

(5infl + cosd) 7
(a) 1

2

65

79

(€) &3
d) 2

(b}

21

64.

65,

What is the value of
1-2sin’ Bcos” @
sin® @ +cos* B
(a) 0
(b) 1
te) 2
(d) 3

+4 equal 107

A rectangle is 48 em long and 14 em
wide. If the diagonal makes an angle 8
with the longer side, then what is
(sec® + cosecf) equal o ?

775

®) Tes

313

(d) 24

What is the area of the tnangle having

2 X X ¥,

; M 2
de | =-t=—, :
side lengths oot

z x
l[.1.'+__1-f+z:!|"t

() o

f
N
T+ y+r

(b)

f
Ji.q.i.].i
Yy =z &

4 ||M
id) ' ez

(e)
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67,

o9,

afe vw fuw % S 300 A 450 ¥
. IR sl (wEfs) oy &
TS [*."i+l}1:m t, Gl H‘E_-r &
SRS W OB 7

(a) |[~."§-+1}| em?
() (u‘iﬂ} em?
(c) %{w‘ﬁ -I-I] cm?

(d) 2(¥3+1) cm?

. ABCD, iR, e ¥ e # w

w # | T EE Y DA T A § o
firwwif 4C 3 BD % wh=im g 03
B et ® ) S sfafes, £ Do
wiEm i r apwfom ) wiz
ABCD 8 ¥ PFropim s DOE &1
TR W W o wm e S
S W gl e & dEE 8 e

e
(a)
(h)

(c)

o~ el ~d]a oG |A

{d)

20 cm 3 16 cm 1 ot 4@ 39w
T A W we § sl el o R
waTE 24 cm ¥ | Ay T W & A
i glt o B, A Feafafin & @ o ow
o

PLKI-T-MTK - A

F ¥ 4

70.

71.

TR

(a) 4= 2bem
(b 2bem<d=27cm

[c} ZTcm < d-=<28cm

[d}y &> 28 cm

5 em # Bem 9w wF T A, R
o 4B R 4c W oveR
AB=AC=8ecm ¥ | o pCHr ward
o B 7

{a) 9cm

(b} 92cm

() S-Hcm

{d} 9-8cm

T g Wil v & e we § ) s
BTRAl T AES  136rem” B O#HK
T FR AN R T 4em B W
it i Proad s § 2

(8 11 em, ¥ cm

by 10 em, 6-cm

¢y 9 cm 5 cm

{(d} E cm, 4 cm

Tfz v 39 3% v i F dmem R
2, @ 3k it = s e @ 7

=

a)y 24m

(b}

(c) -

(dy -




67. If the angles of a tnangle are 30°
and 45° and the included side is

[ju'ﬁ+ I} ¢m, then what 15 the area of
the triangle 7

(@) (V3+ 1) em?

0.

(b {1"3 +3:| em<
{c) %{'u"i-k[jl cm?’
(@) 2(+3+1) em?

. ABCD 15 a plate in the shape of a
parallelogram. EF is the line paraliel
to D4 and passing through the point
of intersection @ of the diagonals AC
and BD. Further, £ hes on DC and F
lies on AR, The tnangular portion DOE
I8 cut out from the plate ABCD,. What
15 the ratio of area of remaining portion
of the plate to the whole ?

(a)

oo | La

(b)

=3 | A

(c)

e | b

.
@ 3

Two circles of radii 20 cm and 16 cm
intersect and the length of common
chord is 24 cm. If 4 i5 the distance
between their centres, then which one
of the following is correct 7

23

T1.

TL

(a) d=<26cm
(b) 26 cm<d<27cm

e} 27Tem<4d<28cm

{d) d>28cm

In a circle of radius 5cm, AF and
AC are two chords such that
AR =AC=8 cm. What is the length of
chord B 7

{a) 9cm

(b} 9-2em

(c) S6cm

(d) 98 cm

Twa circles touch internally. The sum
of their areas is 1367 em?® and distance
betwesn their centres 15 4 om. What are
the radii of the circles ?

(@) 11 em, 7 cm

(b) 10 cm, & cm
(c) B cm, 5 cm

(d} & cm, 4 cm

If area of a circle and a square are
same, then what is the ratio of their
perimeters 7

() 2T

(b} ~x
T

" !
(¢ e

'..-'IH
(d) T

A - PLKI-T-MTK




73. B cm T A1 UF 9 50 WHR T&=1 T
# f5 =2 2 weR == e W@ o
wa # | e oow w= aftes e =
for w8 = e T o & TR e
oA tEnd o gw w ed e #
BT W o g 7

(a) 4(3-/2)em
(b) #3-242)cm
(e} Bli- \".E. } cm

(d) 8(3-24/2)cm

74, v FwA & Wt | w R, W W
wates B 3 e R dm 7 e
# | vl omftE waw W oM * fam
fredt T forimy 1 o v S @
AEEEEAT BT B o W & ot
e W o3 W f e & o &
ot a6 mEvaEaT # 7

firex

(a)

(k) faex

B | sl

(c) figee

Ll | OO

10
(d) 1'f?'|ﬁ
75, U Wi MR T aOA & SRR W
#1 aft smm & w g & "
wETTenE B9 8 W UE g 6w
& @ & wWen §, W A o
(eaedt) o it ward geft

PLKI-T-MTK - A

Th.

(a) i &1 gy Fi Fdad w1 wigE
(b) = &t s £ Fard = A
(c) g (Tw) ward &

(d) =t i g Fi F=rE F g

wF wEa & Fart o W, 4.3 F
s 7§ | A e & fiewd s =
g W oA A A % derwe W,
fmolt & et o @ g & =W
ae Prgw & devee, A s e
g 7

{a} 3:4

(b) 4:3

fey 16:9

T

d) 1:1

ar wifim fis 30 fe B ad o=
gt 89 | 20° & v #eex (Fremas)
TETE TSR W SATET AT R | 5 A A
W A R 7
{a) 150x 7 $E
(b} S50 & 62
(¢) 650x = e

(d) B50x ¥ Hie




73. A circle of diameter B cm 15 placed
gsuch 3 manner that 1t touches two
perpendicular lmes. Then another
smaller circle is placed in the gap such
that it touches the lines and the circle.
What 15 the diameter of the smaller
circle 7

(a) 4(3-+/2)em
{b) 4(3-242)¢em

(¢) B(3-+2)em

(d) B(3-242)em

74. The thickness of a cylinder is 1 foot,
the inner radius of the cylinder is 3 feet
and height is 7 feet. To paint the inner
surface it requires one litre of a
particular colour. How much quantity
of the same colour is required to paint
all the surfaces of the cyhinder’

(a) litre

et | =1

litie

(b)

B
() 3 litre

10 .
(d) 5 litre

75. A square and & rectangle have equal
arcas. If one side of the rectangie is
of length numerically equal to the
square of the length of the side of the
square then the other side of the

rectangle 13

25

T6.

T,

square rool of the side of the
square

(a)

(b) half the side of the square

{c) of unit length

(d) double the side of the square

The length and breadth of a rectangle
are in the ratio 4 ;: 3. Then what 15 the
ratio of the area of the wangle formed
by the parts of the diagonals with a
long side to the area of the tnangle
formed by the parts of diagonals with
g short side 7

fa) 3:4
(by 4:3

¢} 16:9

(d)y 1:1

Suppose @ region is formed by
removing a secltor of 207 from a
circular region of radius 30 fect. What
is the area of this new region ?

(a) 150m square feet
(b) 550x square feet

(¢) 650x square feet

(d) 850x square fect

A - PLKI-T-MTK




78. ABCD U% wwiew. = &, Bt ac

79.

80.

it gD Tawnl € | afk 2BAD =60,
ZADB=90° %, @1 BI® firmdh ==y
B ?

=
%

(m)

ke
Iu:lu

(b)

e
==}
-

{c)

e | e Bed | == e L L
Y o B
o3

td)

UF AR IS ABCD % ofnf 4 @
didt s mm oocH P e 2
AT aw Er Al T RO# O W fired
21 Ak P, pc = wefeg B, @
reafafas & & o wm /8 =97 od
B/8 7

I. APDA 1 819%8, APCO & &%A

& wa &
2. AQABR T BT, APCOS s
= 7 #

#r fon e 57 W wim a9 o
(a) a9 |

(b) &aw 2

(e) 1322t

(d) Ad 1, A¢2

1-4 m M= 3 5 m s T v
(59) g & fou fad v e figdt
wreAl gt ¢

(a) 302 &9 Hi

(b) 304 w9 Hex

() 306 59 Hiex

(d) 30-8 ¥ H=

PLKI-T-MTK — A
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81.

81.

83,

84.

Tfg v e & el caftey €, W
FUE GAEA o R 7

y =
a 7

b
-

E "r"'l'l.

(b)

(c)
(d) =

3

Lo

ba

w fom & ot § dEmE
3x, 4y, 53 & W <4, [57<53
%lﬂﬁ'ﬁﬁﬁmv_ﬂ: F op° 8,
X, ¥, & & "R ywiE W we s
g7

(a) 1,2 3

b 2 3,4

) 1.1, 1

(d) 3, 4,5

t{ﬂfﬁ‘ﬁ‘n#ﬂﬁﬁhﬁfﬂﬂzﬁ—rﬁrqw
B w7

(a) 1

(b) 2

fe) 3

(d) ¥

% 6 em Frem T v a9 i = =
30° F T W i w0 8, @
I8 Wy B F=rE T e R e
(a) 314 cm

(b) 2-15 cm

ic) 2-14 em

{d) 2 cm




8. ABCD 15 a pemallelogram where AC

and B0 are the diagonals. If
LRAD = 60°, £4DE =907, then what
is BD* equal to?

3
—AB
(b) ]

(c)

ol | ==

(d)

Ll | B

A line through the vertex 4 of a
parallelogram ABCD meets DC m P
and BC produced in Q. If P s the
mid-point of DC, then which of the
following is/are correct ?

1. Area of AP is equal to that of
APCQ

2. Area of AQAR is equal 1o twice
that of APCO

Sclect the comrect answer using the
code given below :

{a)
(b) 2
() Both 1 and 2

(d) Weither 1 nor 2

1 only
only

How many cubic metre of carth is to
be dug out to dig a well of radius 14 m
and depth Sm 7

(a} 30-2 cubic meire
(b} 30-4 cubic metre
{c) 30-6 cubnc metre
(d) 30-B cubic metre

27

81.

B2.

LER

If the diagonals of & rhombus are x and
¥, them what 1s its arca 7

(a)

(b)

(c)
(d) .

The lengths of sides of a triangle are
3x, 44y, 53z, where 3x<4.[y=<57:.
If one of the angles is 907, then what

arc the minimum integral values of
I, ¥ 1 respectively 7

(ay 1, 2, 3
b) 2,3, 4
¢} 1, 1,
(d)y 3, 4,

L —_—

What 13 the maxmum number of

circum-circles that a mangle can

have ?
(a) 1
{b)
{c) 3
(d)

L]

Infinie

. If an arc of a circle of radius 6 cm

subtends a central angle measurng
30°, then which one of the following
is an approximate length of the arc ?

{a) 3-14 em
(b} 2-15 cm
{c) 2-14 cm

(d) 2 cm
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85.

#6.

87.

5m WAl T WG UH TR H T W
Tt v ¢ fF 92 v dER W 4.3 m 3N
fory o et & ot ofg wor ot ®om
w1 femm fam & woe ol (Froda)
=R # @R A g o a9 9w 14 m
a*,aﬁ?ﬁw@ﬂ'ﬁﬁlmﬁiﬂ?rﬁ
faaet & 7

(a) 223 m

(b) & m

{c] &2

{(d) 75 m

e v ey ) s gever fier A A
it T EE ¥ e A S
T ST OB 7

(a) 4 = T

by 242 =f w=rd

() = @i e

(dy 2 = =g

r P avlt 4 wom afew # ® @
3 T2l = U AEAE O Y W TE T
& fo weir iy w2 TR et
# | et iz B W 9 W W v
T & fF aw Wi wdt T i o e
ot &) deh i & W o owew @
o, ft # 7

(a) lllr TS

{h_] '-.uj-d-!'-._.r E
A2
r

{c) 1-202 b3
/342

{d] W "l .I"!."EI-.TQ
T

PFLKI-T-MTK - A

28

KR,

Ko,

T W YH™ WEd UE e #
Zie-A o B9 | Uiy ww & | afg
TMEF 6 IR SAEE p AR ST W
THTRE HAFA ¢ &, 7 el g e
W o a7

(a) p= ¢

(b) p= 2g

() 2p = g

(d} 2p = 3g

ABCD v wuie W WeR &
AD = DC = CA = 20 55T, BC = 12

e AN LABC =90° %1 wgHw
ABCD w1 Bawm wovm ferm R 7
269 ¥y
300 7 T
325 of w=md
149 T THE

(a)
(b}
(c)
(d)

Wﬂ#ﬁ?,&ﬁum&ﬂﬁﬁﬁ
& WE PORS % | PO, OR %R RS
AR Fart ¥ € | 05 9 = S U
st o= T # (R fF oamm #
fomman war #) | v e W sreE
T oEn R v

{a) 25:121
b 5:13
ey 5:18
(d) 1:2




85. A ladder 5 m long is placed in a room

g0 a5 to reach a pomt 4-8 m high on
a2 wall and on tuming the ladder over
to the opposite side of the wall without
moving the base, it reaches a point
14 m high. What is the breadth of the
room 7

(a) 38 m

(b) 6 m

(¢} 62 m

(dy 75 m

What is the area of the largest square

plate cut from a circular disk of radius
ong umit ¥

(a) 4 square units

(b) 2+2 square units
{¢) m square umits

(d) 2 square units

. Out of 4 identical balls of radius r,
3 balls are placed on a plane such that
each ball touches the other two balls.
The 4 ball is placed on them such that
this ball touches all the three balls.
What iz the distance of centre of 40
ball from the plane ?

—

(@) E,q!% il
I}
() ﬂ # it
32
4 unit
[ 5
@ 22EINS it
l,.l

BB. A right circular cylinder just encloses

9.

a sphere. If p is the surface area of the
sphere and g is the curved surface area
of the cylinder, then which one of the
following 15 correct 7

(@) p=gq
b} p = 2¢
c) Ip = ¢
(d) 2p = 3q

ABCD is a quadrilateral such that
AD = DC = CA = 20 umits, BC = 12
vimts and ZABRC =007 What 18 the
approximate area of the quadrilateral
ABCD?

{a) 269 sq umis

(b) 300 sg wunits

(¢} 325 =q units

{d) 349 =q umnits

{/ &

Let PORS be the diameter of a circle
of radius 9 cm. The length P, PR and
RS are equal. Semi-circle is drawn with
(J5 as diameter (as shown in the given
fipure). What is the ratio of the shaded
region to that of the unshaded region 7
(a) 25:121

(b) 5:13

(c) 5:18

dy 1:2
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21.

|
c‘/
B m amm A wifga o W dwa
frrn %, ol v 99 it B 2em
L B
(a) 4y3-2mem?

b 3-mem?

{n;_:} 'h,.'l:'l - g EI‘.I'.I.‘I

2
(d) 2m-2+3em?

2,

643 units

91.

& uniis & units

|
1

| Sanad g

fer wo s |, wifae e w1 dEe
e & 7

(a) 9(m-+3) = wETE
(b) Hdx—343) = T
(¢) 3(3r-43) 5 ==
(d) 9(x3-m) wi ward

PLKI-T-MTK - A

94,

fo o s, aft L6 =52,
MexwAA ¥R 7

(2) 45°
(k) 30°
(¢) 15°

(d) 10°

ABCD v ifm (weEw) #, e
AB, DC % wAmR ® | afg 48 = 4 cm,
BC=3cm, CD=Tem 3% DA=2em
R, @ ddifmm w e o R 7

(a) 22 |IE em’
Y3

E

(b 221.|— em®
1||2

() 22+3cm’

]




(2
What is the area of the shaded region

in the given figure, if the radius of each
of the circles is 2 cm 7

(a)
(b)

443 -2 e’
"u'i =N l:r'l'-l2

- ‘lr
V3 -Zem’

(c)

(d) 2m-243 cm®

%ﬁf

643 umits

& anlks

In the given fpgure, what is the area
of the shaded region ?

(a)
(b)
(<)
(d)

Q{r = J3) 80 umMits
4w —-33) sq units
31}:-':—4-,.'3} 5] units

O(~+3 —x) 5q umits

k|

93.

: e, | E
In the given figure, IFE= & and o - b2

then what is the value of x 7
{a) 45°
(k) 30°
(<)

157

(d) 10°

ABCD 18 a trapezium, where 48 18
parallel to DC. IFAB=4 em, BC=1] ¢m,
C=7cm and DA =2 cm, then what
is the area of the trapezium ?

%
() 22,45

\ cm”

I. 3
— CIn

Lo

(b) 22

[ 2
2v3 cm

(c)

2940

() CIm
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for m witm # po RS F wEiE
R, FAEF=95°, sBHS=110° 3k
LABC=r* B, My AT T 7

{a) 15

{b) 25

{c) 30

(dy 35

B m sitm # ww fmm om §)
LN+ L2+ A4 24+ 25+ L6+ 2T+ 28 1.
HIHA TR 7

(a) 240°

(b} 360°

(c) 540°

(d) 720°
Tan o st A, A8, CD % waiek § it
AC, BD% ware £ | 2B 2E4C =407,
£FDG = 55°, ZHAB = %, & x &
il i

{a) 85

{b) 8O

() 75

Q 5 (d) 63
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3

2

i - 4

A“”
| -
|
E - —
T3 5
7 f

Angles are shown in the given figure.

What i1s value of Z1+22+243+24+
ER5+ 56+ T+ 287

(a) 240°
{b) 360"
(c) 5407
(d) 720°
P R
+ 1
A - E 1
s S
f\’it:} B
e I
——" H 1o
L s
v v
) s

33

97.

In the given figere PO is panillel to
RS, ZAEF=95" ZBHS=110° and
LABRC = 17, Then what 15 the value of

x"
(a) 15
(B

25

(e} 30

(d) 35

H

A
:!." C\‘
In the given figure AF is parallel to
CD and AC is pamallel to BD. If

LEAC=40°, LFDG=55° LFHAB=Xx",
then what is the value of x 7

F

IS e TN
e \
P
E \iw

i

(a) BS
(b) B0
75

(c)

(d) 65
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08, () 153 em®
(b) 255 cm?
fc) 284 cm?

(d) 30-5 em?

A L j\\?/‘l y

100.

B
_'_ﬂ_,_,_,-'-""
oo . st #, o o 99 ABC, AEF =
M coF €1 4 3 Cc & ¥ B gl E T S '.
28 v B, o FAC wmowsfag
et andat =1 = derrs e 2 7
7

(a) 924 31 w=rd

D M

(b) 824 = ==

for wu amtm % wew #, Feafafas
(c) 624 o1 =7 AT 9 faw &ifan .

1. AAOD X ABOC F &TFeA! o
(D463 %1 it TITEA AAOB 3 ADOC %
HAFET & TR & =0 # |

99. : 2. £A0D = £BOC
a:,:;"f‘ff,’;_':* 5 3. AB+BC+ CD+ DA > AC+ BD
é B em £
Z : ol A & ot & wgm wt £ 7
F;; f i fi cm {-:".
- Z
% Z (a) a1 it 2
HEI‘I’I

(b) et 2 9 3

. (e) &aw | #f3
fom mu wwm #, wifiw o W dEEw
v fm B 7 (d) 1,283
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98, (a) 153 em?
(b) 255 em*

/ \ (c} 284 cm?

(dy 305 cm®

1040,

In the given figure, there are three semi
circles ABC, AEF and CDF. The dis-
tance between 4 and C is 28 units and A
F is the mid-point of 4C, What is the
total area of the three semi circles 7

{a) 924 square units

(b) 824 sguare units = 3

Consider the following statements with

{c) 624 square units reference to the given figure :

1. The sum of the areas of A4OD

(d) 462 sguarc units and ABOC is equal 1o the sum of

the areas of AACE and ADOC.
2. ZAODD= LRI

3. AB+BC+CD+DA>AC+ BD

Which of the above statements are
correct 7

(a) 1 and 2 only

(b} 2 and 3 only
(c] 1 and 3 only
What is the approximate area of the

shaded region in the figure given ? {(d) 1, 2 and 3

L A - PLKI-T-MTK
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